Easy Wood Plans

www.easywoodplans.com

#7B, 2316-27Ave N.E.
Calgary, Alberta
Canada, T2E 7A7

NOTICE

“The purchoser ogrees when
purchasing this pion (the “Plon”):

1) the purchoser has acquired the
right to build or construct the

object or project sel out in the Plon
(the “Project”) for his/her/its
persanal use only ond not for

ony commerciol use,

2) reproduction of the Plan in whole
or in port by any meons whatsoever is
strictly prohibited.

3) Blueprints For The Hondyman

shall not be liable for any willful
misuse or negligent use of this plon,
the Project or any tools used to
construct the Project or for any
loss or domoge resulting therefrom.”

Note: Read all dir

before beginning

on__._um:pm_.m 0_.:0. should be used to

reinforce oll joints

Directions:

1) Loy out your material on the workbench, as
1). Drow out all ports
culting diogram (Fig 2), including the letter designations, in pen
Ensure to leave o smoll spoce between cut
Before cutling, double check oll measurements to ensure
they are correct. Always cut on the waste side of the lin:
cul the robbet joint in pieces L (Fig 3) with o foblesow
set ot o 3/4" depth, or with o router.
The notches in
jigsaw, or o hondsaw ond chisel.

material layout (|

of the saw.

scrop piece of wood.

fit before glueing and noi
box and handsow.

2) To make the backgommon boord, drow o light line in pencil 6" from each
Maoke marks on these
lines 7 1/2" in from each edge lo show the locations of the middie
Mark the apex points on the 6"
outside edge 5/8" in, ond every 1 1/4” thereofier.

of two edges to mark your
seporater.
the boses being 1 1/4" th
unnecessary guide lines.

Similarly, drow ond paint or

opposite side of the piece, the squares are 2” wide.
Blunt the ends of 1 1/4" finishing nails and nail
The bottoms
Sel the noails
ions dark, the

backgommon side up.
R to the center of P (|
of Q ond P should be flush
and fill with wood filler.
other half light.

3) Using o 1/8" d
holes to o depth of

h

flathead screws.
into the holes (Fig 4). Cut
with either o jigsow, or cut
smooth.

8).

Stain or paint half the

aond countersink oll screws

triongle apex points.

es storting from the

k, and, with an eroser, remove any

Paint or stain the triangles light and dork,
first lighlly stoin whole boord then use a ruler ond a fine paint brush
to ensure you do not "go over the lines” when staining dork oreos.

stain the chess/checker boord on the

z

pieces Q to piece P.
on chessboard side of boord.

through pieces K ond countersink these
Glue the tops
of pieces H and screw, through the holes in K, K 1o H with eight #8 3"
Glue and insert eight 1" dowel lengths of 3/8"
Round the corners

o 3/8" bit os shown (Fig 4).

off the excess dowel.
off ot 45° with o handsow, ond sand

Repeol this procedure to ottach pieces J to the other
ends of H, only the 3/8" counlersink hole should only be 1/2" deep on

bottom rails ond use eight #8 3" flothead screws.

OVER

16"

e L

(25) (32)

16"

( 406 )
P reverse side

outlined in the suggested
exactly os illustrated in

nes to allow for the width

You con
h the blade
Test the depth of cut on a

ce B con be cut with either o
Dry fit all nolches to ensure o snug
g. Cut the miters in E ond D with a miter

Drow the triongles,

Loy out piece P,

MITER BOX

(10)3/8", (19) 3/4"
" - S
3/8" dowel plugs — 3/87 ODowe! 3ft length 17 Dovel 3ft length
~ I
Ll K F A
| "
" H ~—— GRAIN —= H
Screw Detail in corners c B
(typicol) One sheet
FIGURE 4 3/4" pywood L | ___ L _____
MATERIALS LAYOUT
FIGURE 1
3/4" 29 1/2" 33" 34 1/2°
(o) - (838 _ (876 )
o4
1/2" 51
&S ° . i ~
Detail of robbet c 2 Qe A m .mu
for piece L -~ -
FIGURE 3 oy =
3/4"]
31 1/2" (19
o . b e
22 1/2" 36" _
(572) (914)
1172 ol 34 1/2" . 34 1/2" 14 3/4" 18"
Gy———— & (876 ) B2 (876) | . [ . [en
17 1/2" piece Q K ( vu. 2 j—4 12 - AV S T SV
a5 end milers _1 (76) s —T (38) — (38) (19)
- R (13) 18" 18" 18”
e e e— 457 457 457
@3 - can) 1172 s T >
(406 ) T e ———Ten 1" Tpe

] S =& 3/8" dio.
%%nw dover 1m n_\o:a_ °

32 pieces reqd. 16 pieces reqd.

CUTTING DIAGRAM
FIGURE 2

GAMES/COFFEE TABLE - Project #305

o}

MATERIALS LIST

Two 10" 2x4 (1 1/2"x3 1/27)
One 10° 1x4 (3/4"x3 1/27)
One 4'x8" sheet 3/4" plywood, good both sides
One 36" length 1" dowel
One 36" length 3/8" dowel
Two 3" hinges with 1/2" mounting hordware
Two slow closing lid stays

Light ond dark
Varnish or

Approx. fifty #8 1 1/4"
Approx. 1 1b. 1 1/4"

MATERIALS LIST

Approx. ten #8 3" flotheod screws

MATERIALS LIST

stain Four 1/8"x1/4" cork bumpers
oil Wood filler
Sondpaper
Corpenters glue
Twelve 3/8" wood butlons

flothead screws
ishing ny

Approx. fifteen 2° #8 flothead screws
Approx. 1/2 Ib. 1 1/2" finishing n




